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SECTION A

Candidates must answer question 1 AND one of either question 2 or question 3 All questions carry
equal marks, namely 20 marks per question Section A therefore counts 40 marks out of a total of 100

QUESTION 1 (20 marks)

1 (a) Raymond has a budget of R200 The price of food 1s R20 and the price of clothes is
R50

() Draw a budget ine with food on the horizontal axis (2)

A

—
Ll

(n)  Suppose an indifference map exists, show his equilibrium point on the diagram
above (2)

(m)  Which condition must be satisfied to gain equilibrium? (2)
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(b)

()
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Define the cross-price elasticity of demand (2

()

The cross-price elasticity of demand for peanut butter in comparison with the
price of jelly 1s 0 3 If we expect the pnce of jelly to decline by 15%, what is the
expected change n the quantity demanded for peanut butter? Show your
calculations {4
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(c) () The diagram below depicts the change in optimal consumption bundles for
Mpho when the price of bread falls Decompose the change into the income

and substitution effects Indicate the total effect, income effect and substitution
effect in the diagram

(6)

Bread

(1) Do the iIncome effect and substitution effect work 1 opposite directions? (2)
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QUESTION 2 (20 marks)
2 (@) Afimm's total cost function I1s given by the equation
TC =4 000 + 5Q + 10Q?
Whnte an expression for each of the following cost concepts
() Total fixed cost (2)
(n)  Total variable cost 2)
(m} Average vanable cost (2)
(v) Average total cost {2)
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(v} Marginal cost (2)
(vt} Determine the quantity that minimises average total cost (4)
(b) Explain the difference between returns to scale and economies of scale (6)

[TURN OVER]




QUESTION 3 {20 marks}

3 (a)

Us
Textiles

7 ECS2601
10/11 2014
Refer to the diagram below to answer this question
Mexico Chips Oy
G
- 1:[
I \
™\ \
X
\ y
D C
conatract curve B I 0
A “s Mexico
Textiles
O
Us US. Chips

Suppose the Edgeworth box diagram above pertains to trade between Mexico

and the US The consumption of computer chips and textiles in both countries
1S given by point A At point A, what I1s true regarding the relative price of
. computer chips in the US versus that in Mexico?

)

(m)

indicates the level of consumption by each country?

if trade brings about the efficient equilibrium, which point in the diagram

e
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(n) At the new equilibrium, what has happened to the price of chips in Mexico? (2)
(v} How do we know both countries are better off with free trade? (4)

{(b) A monopolist faces the following demand curve, margnal revenue curve and
marginal cost curve far tws product

P = 360-4Q

MR = 360-8Q

TC = 200+2Q2

MC = 4Q

(n  What level of output maximises the total revenue? Show calculation (3)

[TURN OVER]




9 ECS2601

10/11 2014
{n}  What is the profit maximising level of output? Show calcuiation {4)
{(n)  What is the profit maximising price? Show calculation (3
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ROUGH WORK
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SECTION B
In thus section ALL the guestions must be answered on the attached mark-reading sheet Carefully
follow the instructions for the completion of mark-reading sheets Also pay attention to the
following
()  Suppose a question reads as follows

1 A simultaneous increase In supply and demand must result In

[1] aprice increase

[2] a price decrease

[31 anincrease \n quantity

[4] achange in the law of demand

[5] Mone of the above

The correct statement 1s [3] and you must therefore mark [3] on the mark-reading sheet

{(u)  Only one of the alternatives per question Is correct You must therefore not mark more than one
alternative for each question

(m) For each correct answer you will receive two marks No marks will be deducted for incorrect
answers

(v) Sechion B consists of 30 questions and counts 60 marks out of a grand totai of 100 marks

(v} Place the completed mark-reading sheet in your examination book

Your mark-reading sheet may get lost and you MUST therefore also write down your
answers for this section on page 18 in your examination book, for example 1 [4, 2[3]; 3
[1]; etc.

THE FOLLOWING ABBREVIATIONS MAY APPEAR IN THIS SECTION:

P, = price of good X AR = average revenue

Qg = quantity of good B MR = marginal revenue
MRS = marginal rate of substitution AP = average product
MRTS = margnal rate of techmical substitution MP = marginal product
MRT = margnal rate of transformation ™ = total product

MC = marginal cost MU, = marginal utihty of good A
SAC = short-run average cost TR = total revenue

LAC = long-run average cost ACC = average constant cost
LTC = long-run total cost TC = total cost

STC = short-run total cost AVC = average vanable cost
SMC = short-run marginal cost TCC = total constant cost
LMC = long-run marginal cost TVC = total vanable cost
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SECTION B MULTIPLE-CHOICE QUESTIONS

1 The price elasticity of demand for a demand curve that has a zero slope 1s

[11  zero

[2] cone

[3] negative but approaches zero as consumption increases
[4] infinite

2 Other things being equal, the increase in rents that occurs after rent controls are abolished Is larger
when

[1] the own price elasticity of demand for rental homes 1s price inelastic

[2] the own price elasticity of demand for rental homes 1s price elastic

[3] the own price elasticity of demand for rental homes has unitary price elasticity
[4] rented homes and owned homes are complements

[5] rented homes and owned homes are substitutes

3 The assumption of transitive preferences implies that indifference curves must

1] nat cross one ancther
[2] have a positive slope
[3] be L-shaped

[4] be convex to the onigin
[5] All of the above

4 Suppose that the prices of good A and good B suddenly fell by 50% If good A is plotted along the
hornzontal axis

[1] the budget line will become steeper

[2] the budget lIne will become flaiter

[3] the slope of the budget line will not change

[4] the slope of the budget ine will change, but in an indeterminate way

5 Pencils sell for 10 cents and pens sell for 50 cents Suppose Jack, whose preferences satisfy all of
the basic assumptions, buys five pens and one pencil each semester With this consumption
bundle, his MRS of pencils for pens 1s 3 Which of the following s true?

[1] Jack could increase his utility by buying more pens and fewer pencils
[2] Jack could increase his utility by buying more pencils and more pens

[31 Jack could increase his utiiity by buying fewer pencils and fewer pens
[4] Jack could increase his utiity by buying more pencils and fewer pens
[5] Jack s at a corner solution and 1s maximising his utility
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When someone consumes two goods (A and B), that person's utifty 1s maximised when the budget
IS allocated such that

1]
12]
(3]

[4]

the marginal utility of A equals the marginal utiity of B

the marginal utiity of A times the price of A equals the marginal utility of B imes the price of B
the ratio of the marginal utility of A to the price of A equals the ratio of the marginal utity of B
to the price of B

the ratio of the total utility of A to the price of A equals the ratio of the marginal utiity of B to
the price of A

The change in the price of one good has no effect on the quantity demanded of another good
These goods are

[1]
(2]
[3]
[4]
(3]

complements
substitutes

both inferior

both Giffen goods
None of the above

For an fenor good, the income and substitution effects

[1

]
[2]
[3]

(4]

work together

work against each other

can work together or in opposition to each other depending upon therr relative magnitudes
always exactly cancel each other

Which of the following 1s true about the demand for petrol?

(1]
(2]
(3]
[4]

It 1s probably more pnice eiastic in the long run because price will increase by a higher
percentage

It 18" probably more price elastic in the short run because It 1s easier to find substiutes for
petrol In the short run

It1s probably more price elastic in the long run because It is easier to find substitutes for petrof
in the long run

It 1s probably more price elastic in the short run because pnce will increase by a higher
percentage

Which of these 1s an example of a negative network externality?

[1]
(2]
(3]
[4]

bandwagon effect
pollution

snob effect
two-part tanff
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If Input prices are constant, a firm with decreasing returns to scale can expect

[1]
[2]
(3]
[4]

(5]

costs to double as output doubles

costs to more than double as output doubles

costs to go up less than double as output doubles

te hwe more and more labour for a given amount of capital, since the marginal product
Increases

to never reach the point where the marginal product of labour I1s equal to the wage

In order for a taxicab to be operated in Johannesburg, it must have a medallion on its hood
{bonnet) Medallions are expensive, but can be resold, and are therefore an example of

(1]
[2]
[3]
[4]
(5]

a sunk cost

a fixed cost

a vanable cost

an implicit cost

an opportunity cost

At the optimum combination of two nputs

(1]
(2]
[3]
[4]
{3}

the slopes of the isoquant and 1socost curves are equal

costs are minimised for the production of a given output

the marginal rate of technicat substituton equals the ratio of input prices
All of the above

[1] and [3] only

If current output 1s less than the profit-maximising output, then the next unit produced

[1}
(2]
(3]
14}

will decrease profit

will increase cost more than it increases revenue
will iIncrease revenue mere than It iIncreases cost
will Increase revenue without increasing cost

Higher input prices in a competitive market result in

1]
(2]
13]
[4]
(3]

upward shifts of MC and reductions in output
upward shifts of MC and increases in output
downward shifts of MC and reductions in output
downward shifts of MC and increases in output
increased demand for the good the input is used for

[TURN OVER]




16

17

18

19

20

15 ECS2601
10/11 2014

Sharon decides that she would pay as much as R9 000 for a new iIPhone She buys the iIPhone and
realises negative consumer surplus of R1 500 How much did Sharon pay for the IPhone?

[1] R9000
[2] R1500
3] R10500
[4] R7500

Suppose James, Julius and Jacob al! purchase a printer for therr offices for R2 150 each James
realises R350 as consumer surplus while Julius realises R150 and Jacob R550 How much was
each of them willing to pay for the printer?

[11  James R2 500, Julus R2 300, Jacob R2 150
[2]  James R2 350, Juius R2 700, Jacob R2 500
(3] James R2 200, Julus R2 700, Jacob R2 500
[41 James R2 500, Jullus R2 300, Jacob R2 700

Suppose the market demand curve 1s P = 10 - 2Q Ata price of 6, consumer surplus equals

(1] 4
2] 8
(31 6
4] 10

[5] 12

A form of price discnmination i which a seller charges different pnces to groups that are

differentiated by an easily identifiable characteristic such as location, age, sex or ethnic group is
called

{11 first-degree price discnmmnation

{2] second-degree price discnmination
[3] third-degree price discnmination
(4] fourth-degree price discrimination
[5] price making

Le Roux’s Christmas tree lot has a monepoly on sales of Christmas trees To increase his sales
from 100 trees to 108 trees, he must drop the price of all his trees from R28 to R26 What 1s Le
Roux's marginal revenue when he lowers his price and increases his sales from 100 to 108 trees?

[1] R2808
[2] R28

3] R26
4] RS

(5 R1
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Two friends, Paul and Peter, each own a Pick n Pay supermarket franchise They have identical
constant marginal costs, but earn zero economic profits Therefore, Paul and Peter constitute

(1]
(2]
[3]
[4]

a Sweezy oligopoly
a Cournot oligopoly
a Bertrand oligopoly
None of the above

Which three of the following charactenstics apply to oligopoly?

a
b
c
d

fSwa e M S )

e

(1]
[2]
(3]
[4]

A few large firms account for a high percentage of industry output
Many small firms account for a high percentage of industry output
Each firm faces a horizontal demand curve

Each firm faces a downward-sloping demand curve

The industry 1s often characterised by extensive non-price competition

(a), (d) and (e}
(a), (b) and (e)
(a), {c) and (e)
(a), (b) and {c)

in the Cournot duopoly model assumes that

[1]
[2]
[31
[4]

each firm decides what price to charge and that their nvals will not respond
each firm decides what price to charge and that their nvals will respond
each firm decides how much to produce and that their nvals will not respond
each firm decides how much to produce and that their nvals will respond

The kinked demand curve model of oligopoly assumes that the elasticity of demand

(]

in response to a price increase 1s less elastic than the elasticity of demand in response to a
price decrease

In response to a price increase i1s more elastic than the elasticity of demand In response to a
price decrease

Is constant regardless of price increases or decreases

15 perfectly elastic If price increases and perfectly inelastic if price decreases
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Within a general equiibnum setting, which of the following statements 1s NOT necessanly true?

[1] At the point where indifference curves intersect, the marginal rates of substitution for the two
consumers are equal

[2] Consumers’ indifference curves will be tangential along the entire length of the contract curve

[3] Pareto optimal points will mean that alf mutually beneficial gains from trade have been
exhausted

[4] Intersecting indifference curves will indicate a Pareto inefficient allocation

When a buyer’s willingness to pay for a good Is less than the price of the good

[1] the buyer's consumer surplus for that good 1s maximised

(2] the buyer will buy as much of the good as the buyer's budget allows
[3] the buyer's consumer surplus 1s negative

[4] the buyer is indifferent about buying the good or not buying it

The condition that requires MRTS for each input par to equal marginal costs 1s known as
efficiency, and the condition that requires MRS for each output parr to equal their output price ratio
is known as  efficiency

[1] economic, market

[2] micro-, macro-

[3] cost, revenue

[4] technical, cutput

[5] consumption, production

An efficient allocation of productive inputs requires that

(1] each output has the same rate of technical substitution among inputs used
[2] each output has the same marginal rate of substitutton for consumers

[3] each parr of outputs has the same rate of product transformation

[4] eachindividual has the same marginal rate of substitution between outputs

In the general equilibnum modef, the slope of the production possibility frontier shows
[1] the marginal rate of substitution between the two goods
[2] the relative marginal costs of the two goods

[3] the efficient combination of outputs possible using fixed amounts of Input
(4] the relative marginal productivities of the two goods
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In an Edgeworth box, all points of efficiency occur at
[1] the intersections of the indifference curves
[2] the points of tangency between the sets of indifference curves
(3] the midpoint of the diagram
(4]  any point other than the intersections of the indifference curves
18]  None of the above
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